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[1] (a) Write the following expression in Lisp. / (v
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(b) In Lisp, the div operator is not defined, but the operators mod is defined.
10 mod 3=1

write a function div that simulates the “div” operator. The function div will receive two
integers n & m and returns the value n divm,
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[2] The 3 key points that characterizes the imperative (procedural) garadigm are:
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While the key points that characterizes the Object Orientd (grocedural) paradigm are:
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[1] Given the Binary Alphabet {0,1}, Wrjte a regular expression that:
(a) Begins with 00 and ends with LY.
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(b) Contains at least three 1’s %
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. 12} (2) write down the regular exprlessionxafc'eptqd'by‘_thg following FSA NN,
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(b) Draw directly a FSA that recognizes the language a*b | b*b"
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a) Given the following piece of code in C:

float jump(float.float);

int n;

float x,y:

const int m=10;

float Z=jump(x.y); e

n=m; tga w\e%ﬁ"

Build the symbo] table after the above code is executed.
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'~ (b) What are the tokens generated by the following code? e aaik Mabaaec. &

int N=100;
N++N;
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